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e CPUDDOOO 64 GHlops/chip0 000000000 80004GHz2O0ODDOO
40004000 4GHzOOOOOOOOOODO 2010000000000
gbobogbogobbogobbuooboboboobboog 2008000
gbooboogobobod
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OOo0oooboooooobooboooooobbobbooo0oobooboog Blackford
000000000000000000000 21GB/sO00000000O0O
gbooO 2010000000000 000000bbbuo0gaoo
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00000 read/write 000 0000000000000 O0O0OOOOOO
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e 000OO
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lggggobobbobobbuoooogbobbobobboooooooobobboon
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Oobs12000000000D00D0DODO0OO 1280000000000000
00000 16x22000000000 32x1600000 32000000000
obooboboboooboobbooboobboo le0obbUo0obbOon
gboboboooobbobuoooobbooooobboooobon

DbOoobObodobD 128000000000000000000000 6400
000000 32000000000000D000C00000O0ODO(COOO)O
00000 6400360GB/s000000000O32Ghbps0000O00DOOOOO
OO0 10000 (0000000 D0O0O0OO00O00ODOOOO2000)00000000
obobooboobog

128000boogobobgoobobolle0bbooobboobob 40b000D
ob20000000 80000000 100000O00O0DLO0ODOOD

26 (0JOOUOOboOOOOOO

gboobooooon

e 100OOODO 10PHops

e JOODODOOODO 10PHops

gbobbuoogboboboooobbboooobbbogobbboogbobboo
O0O000oDoO0o0ooDo0oooooooboooo 100D 128 Gflops O O
goodgobbobblibobuooooobsgobbobouooooobbbbogo
goobobobobobobooooobo400b00b0o0obobo 20000
gliogbbodbbogboooobboobbooboooboobboobn
oboob1l1gobgoobogbooboo1booboobbobboobon
00000000000 00o0o0oD 5% 0000000000000000000
pbobbobooboobbbobooboobooboobooboobon
gbobuoooobbboooobbobuoooobbboooobboboo
Dooobooobobobobobobobobobobobobobobobo
gbbogobobobuoggbbooobbuooobb sgobbolgoboon
O000000ooobOoOon 10Pflops0O0OO0O 150000000000D000O0O
00000000 (202x2)0000 000020000000000000000
obobbobbooboobiodbid B3x13x12000000000000
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gbobooagn 250

gboooooon 280 (40000010 700 OOO)
gboobooodaon 240 (200000001000 120000000)
gboooboogg 1250 (5000010000 200000)
oooooo 00

00 9% 000

00 (0000ooo) 58000

3 Uoobooboooboooboon

O0000 400000 FDMBM O frontflow OOOOOO0ODOOOOOODO
obobboobooboi1i2bo00booboboboobooon

3.1 QCD

2000 0000000000000 9% x96 x9 x 1920000000000
20x10x10x8 0000 UULDO0OLDOO0ODO1I0Db0O0 5x10x10x240
000000000 100% 0000000000000000010000000O
0000000000 (96% x 192)/(96 x 1002 x 192) =0.88s 000000000 DO

gbboboooobbbooaobbob

PetaQCDMultBench/MultBench_v2.63_sse3_64/L0G-32x32x08x16_4x4x1

O0O000 8x8x8x1leUDOUO 1000 OOLOOOOOO0ObOO0bLO0DbOn
OO000DO000000D0OoD 45MBOODOODOO 13 MflopDOOOOODOO
oboboobo 200b00b0b0b00bo0obgos3sbbobooboobon
goobooo

Dobobobooobobol1obobbbbooosboboooboboboonbo
00 0.0934 byte/flop 00 0000000000000 OOOO0OOO 100000
00000 500000000000008/50000000000 0.15 byte/flop
gooo

0000000000000 0 PACS-CSODOOOODOOODOOOODOOOD
0 0.13 byte/flop 0000 QCODOOOO0ODODOOOOO0OOODOODOOOOO
oogd

gbbobogobbobuooobbbuoooobbbooonobbooogbon
oboobon



3.1.1 [0O0OO0gooboboooobbboodon

0000000000000 00000000000000 byte/flopd 00O
0000000000000 000000000000D0OO 56GB/s 6 000
678Gflops 00 O OO O 0.05byte/flop 00000000 OOO 1/30000000
O000000000000OOODO0OD0DODOOD 3% 000000000000
0000000000000 0O0O0000000000oooooooooO 30%
00000 2% 000000000000 080000000 20%000000
OOO00O0 10Pflops DO OODOO 2Plops DOOODOODOODOOODO

Dbobodobooboobobbooboobuobbobbobooboobo
ooobobobooBBOOOOOOOODLODOOOODLODLDOODOODbLODOO
gobobobooboobobobooooboboboboboooboboon
gbbobooobbobuoooboboboooobbbooobbboooboboboo
000000000 20% 00000000000000000O0O

3.1.2 0O0OO0O000O0O0ObOOO0O00bbObooogn

gbbbuodbbbuoobobbooodgbbbooobobbboooobon
gboogobgbbog2oo00000 sxHx8x1000000ooooogonoogl
00000000000 20000000000000000000 0.0374byte/flop
00000000000 3GB/s0000000000000O0000OOO0OOO 80
Gflops DO ODOOODOODODOODO 80000 54 THops DOODOOODOODODOO
1.5% 0000

0000 fattree 00 QCDOOODOOOOOOODOOOODOOODOOODO
gbbooobboboooobbbbuooogo3sgobobooooobobogan
0003000 5% 00000000000000000000DOO0OO0O0O0O0
000000000 10% 000000000000000000 2000000
0000 2000000000 10%000000000000010% 00000
gbbobuoooobbboooobbbuoooobbbuoobbobooooboo

3.2 FD

ODOOD0D0O0 10240 x 5120 x 5120 0D O 00000 O0ODOO0DO0O0

REAL SXX (NX1,NY,NZPO:NZP1), SYY (NX1,NY,NZPO:NZP1)
REAL SZZ (NX1,NY,NZPO:NZP1)
REAL SXY (NX1,NY,NZPO:NZP1), SYZ (NX1,NY,NZPO:NZP1)
REAL SXZ (NX1,NY,NZPO:NZP1)
REAL VX  (NX1,NY,NZPO:NZP1), VY (NX1,NY,NZPO:NZP1)
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REAL VZ (NX1,NY,NZPO:NZP1)

REAL Q (NX10,NY10,NZP10), LAM (NX10,NY10,NZP10)
REAL DENI (NX10,NY10,NZP10), RIG (NX10,NY10,NZP10)
REAL ROXA (NX,NY,NZP), ROYA(NX,NY,NZP)

REAL ROZA (NX,NY,NZP)

REAL RMXYA(NX,NY,NZP), RMXZA(NX,NY,NZP)

REAL RMYZA(NX,NY,NZP)

REAL DXVX (NX1,NY,NZP), DXVY (NX1,NY,NZP), DXVZ (NX1,NY,NZP)
REAL DYVY (NX1,NY,NZP), DYVX (NX1,NY,NZP), DYVZ (NX1,NY,NZP)
REAL DZVZ (NX1,NY,NZP), DZVX (NX1,NY,NZP), DZVY (NX1,NY,NZP)

(DXSXXOOOOOOOooOOoOo)0oOoOo 2800000REALOOCOOOOOOO
gbboooobboogobbuooobbbooobbbo 1ooaoobooboo
OO0 224 BO00O0O0OO0OO0O0OO M TBUHODUOOOODOOOOOODLDOODOO
gbbbuoodgbbbuoobobboooobboooobbboooobbban
O 512GBO0O0O0OODOODOO 2000 x 1000 x 1000 D0 O0O0O0OO0ODODOOO
gbbbuoooobbbuooobbboooon

gbooboooobooagn

1. ogbobboogobbod

2. 000000000000O0DO

3.21 0000000000000 (2000 x 1000 x 100000)

OobooboboboBMUObOOOOoOOoOooOOoobOOobOOobOobOOoOoboOooDo1IOO
goobboobbobooos8gudadisb2300dggoooooogg1ggo
oooboo1gbooooogooooBMUUbboooooooobooooBB1IOoOoOoO
oboboooboo200b0b000bobbo0 BBOooooD sogob bOoo
OrPEOOOOOOOOODOODOODOOBBOOOOOOODOODOODODOOO
gobooo

Oooboobo3s0booboboboobooobo0 BMOODODOOobDOoOooooDOo
Oo0000O0o00DOOo00DOOoOoOoOooobRAMOOOODOOOODOOOOODOO
gbbboodgbbbuooobobbboooobbbooobbbooodobbbon
0000 2000000000000 BMOODOOODOOOOOOO 1000/0
O000000000000000 BBOO 2300000000000000 50%
gooo
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bobhoogbbodbibdd 40x20x20000000000b0b0o0ooon
0000 5000000 10000000000000000 800000000
gobobobooooouobbbbouooobsbobbbbooooobobooo
001000000 50x50x8x3=60K 0 DO0OD0OOOO 50x50x50x23x9=26M [J
gobooboggg soo:1 bbobobbobbooooobbobbooodoonD 161
gbbbuoodobbbuooobbbuoooobbbooobobbooogboboban
O0001000:1 OO0 O0OO0OOODOOOD400000000000 3GW/sOODO
24GB/s 00 0000000000000 OO0O0OOOO0OOOO0OOOO0ODOO
goddodoooooobooooobbbboooooooooooboboooon
QCbooooboboooooobobobooooooboboboobooo
gbobobogoobboogobobood

3.22 [00000O000O0OOOOOOO (2000x 1000x10000000)

gbobobuogobbobuoggobboooobooboooobbbooogooon
gbobooboboobuodgbagbobbobooboobogobuoboobo
oo 23000000d0d00ooooobbbbooobbbbooodgugaao
02GW/s 0000000000 46 GllopsODOOO 1% 000000

gbobobuogobbbuogoobbooogoobboooobbbooognooon
gbbbuobbuoooobbbuoooobbobuoooobbbuoooobboao
gbbobuoooobbobuooboogobobuoooobbbuoooobobooo
gbboboodgbbbuooobobbuoooobbbooobbbooobboao
gbobboooobbbuoooobobbooobobboooooboobbogao
gbbbuoooobbboooobbob

3.3 Multilocas

OO000O0b00b0obooOobg prob200 iswitch=2000000000000
gbobogoboboboooobn

nt

prob2(int hapid,
int upperlimit,
int nhap,
int haplen,
double pbin,
int ngl1[1){
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int 1i,j,k,iflg,icheck,it;

int tmpi,yates;

int localtypelerror=0,significant,newupperlimit,acc,ng2;
double pb,chi;

double a,b,c,d,e,f,g,h;

/* prob2 2nd */
for(k=1; k<=icount; ++k){
/* 2nd CALCULATION START */
for(j=0; j<haplen; ++j){
yates = -1;
a = (double)ngl[j]l;
(double) (2*n[0] - ngi[jl);
(double)xng2[k] [j];
(double) (2*n[1] - xng2[k] [j1);

b
c
d

if ((@a + b)*(c + d)*x(a + c)*x(b + d) == 0){
if (yates >= 0)
printf("chi calc impossible %f %f %f %f %f\n",
a,b,c,d, (a+b)*x(c+d) *(a+c) *(b+d)) ;
chi = -1;
if (chi > CHITHRESHOLDOO1) {
typelerror += xpb[k]*pbin;
break;
+
} else {
if (yates == 1){
chi = (fabs(axd - b*c) - 0.5%(a + b + ¢ + d))
*(fabs(a*d - b*c) - 0.5%(a + b + ¢ + ¢))
*(a+ b+ c+d/((a+b)x(c+ dx(a+ c)x(b + d));

} else {
f = (axd - bx*c);
g = fx(axd - b*c);
h=gx(a+b+c+d;
e =(a+b)x(c + Dx(a + c)*x(b + d);

chi = h/e;
if (chi>=0 && chi<10000)

)
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else {
printf("chi=%f %E Wt AE %f £=Y%f g=%f h=%f e=Yf\n",
chi,a,b,c,d,f,g,h,e);

if (chi > CHITHRESHOLDOO1) {
typelerror += xpb[k]*pbin;
break;

}
sumprob += xpb[k]*pbin;
/* 2nd CALCULATION END */

000O0O00Ongl, xng2 00020000 (ngl 0 1000 xng20 200) 000
00 xng2 0000000000000000000000000 xng20000
0000 prob2 0000000000000 0 ngl 000000 ngl O hap, x O
0000000 hap,x 0000000000 xO000O000O00O0O
000000000000 000000 ngl 0000000000000000
000000000000 xe20000000000000000000000
000 ngl 00000000000 O00000O0 PEOD ngl 00000000
0000000000000000000000000000000000000
ooooo

0000000000000000

if ((@a + b)x(c + d)x(a + c)*x(b + d) == 0){
if (yates >= 0)
printf("chi calc impossible %f %f %f %f %f\n",
a,b,c,d, (atb)*(c+d) *(a+c) *(b+d)) ;
chi = -1;
if (chi > CHITHRESHOLDOO1) {
typelerror += xpb[k]*pbin;

break;

14



} else {
if (yates == 1){
chi = (fabs(a*d - b*c) - 0.56%x(a + b + c + d))
x(fabs(a*d - bxc) - 0.5%¥(a + b + ¢ + c))
*(a+b+c+d/((a+b)x(c+ dx*(a+ c)*x(b + d));
} else {
f
g
h

e

(axd - bxc);

fx(axd - bxc);

gx(a + b+ c+ d);

(a + b)x(c + d)*x(a + c)*(b + d);
chi = h/e;

if (chi>=0 && chi<10000)

else {
printf ("chi=%f %f %f %f %f £=%f g=%f h=%f e=%f\n",
chi,a,b,c,d,f,g,h,e);

if (chi > CHITHRESHOLDO001) {
typelerror += xpb[k]*pbin;

break;

OO0o0ooobOobo 330b toob0oobooboboboobob0o1100DbD0oo
OOooooobo20000000 20000000 SIMDOODODODODOOO
O0000000O00000o00O0O000O 1/20000000000000000
gbbbuoodobobobtoooobbboooobbboooobboooobbobao
000000000000 000D000000 30% 0000000 ooooo
10Pflops DO OO0 3Plops DO OODOOODODO
gobooboooooobobobbobbdooooobbobbooooobbn
gbbobooogbbbuoooobbboooon
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3.4 astro
3.4.1 goooood

gbobobodgod ooobbbuooodbbblooobbbooooobon
o000b0bOo0obOoobbo0bogbbooobbobobooboobbobn
000000000000 600000 GRAPE-DROODODOOOODOOODOO
5% 00 0000000000000000000000000D0DOOODOOO
0000000000000000 8% 0000000000000 00000d
00000000 5% 0000001000000000000000D0000
gbbobuoogobbbogobbobo 21bbuoaoboo

OO000 GRAPEDOOOODOODODOODODO QOOO/m:WDDDDDDD
gbbuggbboooobbuodobbbuoodbbb oobbuoogbbodso
000 8GB/s 0000000000 0.60000000000000O0O0O0O0O
gobobobobobboodgooobbbuouoooobbbbbbbod 1500
gboooogooood

obooobgol1bgobgo4boobooboobboobboboboobo
gbobbooooobobbuoooobobobobbbuooooob 2000000
gbbbuoodgobobuoooobbooodan

e ][O
e JO000DODO (MPI.ALLGATHERV O0) 20
e 00 (MPILALLREDUCE O O)

gboboooobbbod lebougobooooobob4s00obobuooaon

gbodbobbooogbbbodooobbbbuoooobbboooobob
gbbbooogbboboggbbodg sgbbbooobboloogooobooboo
oboboobo4000000000 12000000000000000000
oooobooobooboobobobobibobobob e7TOOobDoobOOO
oboooobobobobobob3gb120b0boo0boboobobobon
Obooboboooboboobooobobi1obobobuonoboobg 49.5-64.5
O0O00000D0O000o00nD 24-1.9 Pllops 0000

gbbobuooobobboooobbboooooboboooobbooogoboon
OO0 SCIOO0n0 3ms 000100000000 00DOO00OO0DOO0OOOOOO 50
gobobboooobboobbbooogoooobbbob 253000000
oboobobooobgbliboboboboobob 400000000000
OO0 3.5 Pllops D OO0

O000000000000000 % 0000000000000000OO00O0
gbbbuoooboboboooobboooobbbooobbbuooonooboo
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gbobboooobobuooobobobuoooobboooobbboooboboboo
gooo

3.4.2 0000000

000000000000 000000000000000000 21600 000
00000 100000000002000000000000000000000
0000000000000 000000000000000000000000
0000000000000 000000000000000000000000
000000000000000000000000000
000000000000000000 250000000000 200000000
0000000000000 000000000000000000000000
0000000000000000000000000000000000000
000000000000 00000000000000 GRAPEOOOOOOO
0000000000000000000000000000000000000
0000000000000 000000000000
0000000000000000000000000 sMOOOOO0O0O000O
0000000 30000 1IGOOO0O00O0000000 200000010000
50000000000000000000000000000000000000
00000000000000000000000000003GB/s000000
000 128Gops, 0000000 56 Tops 0000000000000 O000O0
0000000000000
000 GRAPE-DROODDOOOOOOODOOOODOOOOOOOOOOOO 60%
0000000000 0000000000000000000000000000
0000000000000000000000 60% 0000000000100
001000000000000005x10°x2x10*x38=38x10"' 0000
00000000 5.6 THops, 00 60% 000000 011 00000000000
000000000 CPU (Athlon 64 2GHz) 0000 100000000 10000
0000000000000000000000 0040000000000000
000000000000000 2500 000000000000 40000000
00000000000000000000000000010000000 400
0000000000000000 160MO00000000000 8GB/sO0O
000000000000000000000 0.0200000000000000
01/2000000000 20%00000000000000000000000
00040000000
O00000000000000 0.38Tflop 0 0.1140.044+0.04 = 0.19 000 O
00000000 000000000000000 2.0TAops00O0000000
00 4.0 PAops 1000
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SPHOOOOOOOOODOOOOOOOOOO0O0O0O0OOOO0O0000000
000000000000000000000000000 20000000010
000000000000000000050000000000001/30000
0000 1.500000000000600000000000000000SPHO
00000000000000000000 0250000000 1.52 Tflops/3.04
Pflops (00 000/00)0000

3.4.3 0000

OOobo0booboboooboooooboobooboooooon 3.2 Pflopsd
OO00000 25 Plops 0000000 OOO0OODOOOODO 152000000
gboooogn

3.5 GAMESS-FMO
351 0O0O0O0DOOOO

0o0o0oooooooooomoodooooooooooooooooon
O000FockOOOODOODODOOOOODDODODOOOOODODODOOODODOOO
0000000000 o0o0ooooooooooO FMOOOOODODODOOOOO
O00OFMODODOOOOODDOOODDODOOOODDOOOOO0OOOoDOOO 2000 2
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3.6 NICAM_BM

gboobogoboboboooobboooobbboooobbbooooobnoon

subroutine src_flux_convergence (&
rhogvx, rhogvx_pl, & '--- IN : rhoxVx ( gam2 X G~{1/2} )

rhogvy, rhogvy_pl, & '--= IN : rhoxVy ( gam2 X G~{1/2} )
rhogvz, rhogvz_pl, & !--- IN : rhoxVz ( gam2 X G~{1/2} )
rhogw, rhogw_pl, & '--- IN : rhoxw ( gam2 X G~{1/2} )
grhog, grhog_pl, & !--- 0OUT: source

f_type ) l-—— IN : flux type

l————- Flux convergence calculation

e 1. Horizontal flux convergence is calculated by using
== rhovx, rhovy, and rhovz which are defined at cell
l—————- center (verticaly) and A-grid (horizontally).
l———- 2. Vertical flux convergence is calculated by using
=== rhovx, rhovy, rhovz, and rhow.

l———- 3. rhovx, rhovy, and rhovz can be replaced by
=== rhovx*h, rhovy*h, and rhovz*h, respectively.
l———- 4. f_type can be set as below.

| mmmme 5. Calculation region of grho, grho_pl

|- : (:, ADM_kmin:ADM_kmax,:)

use mod_adm, only :
ADM_gall,
ADM_kall,
ADM_1lall,
ADM_GALL_PL,
ADM_LALL_PL,
ADM_kmin,
ADM_kmax,
ADM_prc_me,
ADM_prc_pl

use mod_vmtr, only : &
VMTR_RGSGAM2, &
VMTR_RGSGAM2_pl,&
VMTR_GZXH, &
VMTR_GZXH_p1, &

ISR S S R T i
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VMTR_GZYH,
VMTR_GZYH_p1,
VMTR_GZZH,
VMTR_GZZH_p1,
VMTR_GSGAMH,
VMTR_GSGAMH_p1,
VMTR_RGSH,
VMTR_RGSH_p1,
VMTR_RGAMN,
VMTR_RGAM_pl
use mod_grd, only :
GRD_gzh,
GRD_gz,
GRD_afac,
GRD_bfac

use mod_oprt, only : &

R R

IS A

OPRT_divergence

use mod_perf, only : & ! 06/05/23 NEC R.Ogata [add]
t_flag, & ! 06/05/23 NEC R.Ogata [add]
t_src_flux_convergence ! 06/05/23 NEC R.Ogata [add]

!

implicit none

!

real(8), intent(in) :: rhogvx(ADM_gall,ADM_kall,ADM_lall)

real(8), intent(in) :: rhogvx_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

real(8), intent(in) :: rhogvy(ADM_gall,ADM_kall,ADM_lall)

real(8), intent(in) :: rhogvy_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

real(8), intent(in) :: rhogvz(ADM_gall,ADM_kall,ADM_lall)

real(8), intent(in) :: rhogvz_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

real(8), intent(in) :: rhogw(ADM_gall,ADM_kall,ADM_lall)

real(8), intent(in) :: rhogw_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

!

real(8), intent(out) :: grhog(ADM_gall,ADM_kall,ADM_lall)

real(8), intent(out) :: grhog_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

!

character (LEN=%) ,intent(in) :: f_type

= ’HORIZONTAL’ : horizontal convergence

’VERTICAL’ : vertical convergence

AN A
| |
| |
| |
| |
| |
] |
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I<————- = ’DEFAULT’ : both of them

real(8) :: flx_vz(ADM_gall,ADM_kall,ADM_lall)

real(8) :: flx_vz_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)

!

real(8) :: hdiv(ADM_gall,ADM_kall,ADM_lall)

real(8) :: hdiv_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)
real(8) :: rhogvx_f(ADM_gall,ADM_kall,ADM_lall)

real(8) :: rhogvx_f_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)
real(8) :: rhogvy_f(ADM_gall,ADM_kall,ADM_lall)

real(8) :: rhogvy_f_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)
real(8) :: rhogvz_f(ADM_gall,ADM_kall,ADM_lall)

real(8) :: rhogvz_f_pl(ADM_GALL_PL,ADM_kall,ADM_LALL_PL)
!

integer :: 1,k

!

t_start=mpi_wtime () ! 06/05/23 NEC R.Ogata [add]

!

I--- horizontal contribution to flx_vz

if (f_type=="VERTICAL’) then

flx_vz(:,:,:) = 0.0D0
flx_vz_pl(:,:,:) = 0.0DO
else !--- default or ’HORIZONTAL’

do 1=1,ADM_lall
do k = ADM_kmin, ADM_kmax+1
flx_vz(:,k,1) = (
( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvx(:,k , 1)
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvx(:,k-1, 1) )
* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZXH(: ,k,1)
+( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvy(:,k , 1)
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvy(:,k-1, 1) )
* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZYH(: ,k,1)
+( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvz(:,k , 1)
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvz(:,k-1, 1) )
* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZZH(: ,k,1)
)
end do
end do
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if (ADM_prc_me==ADM_prc_pl) then
do 1=1,ADM_LALL_PL
do k = ADM_kmin, ADM_kmax+1
flx_vz_pl(:,k,1) = (
( GRD_afac(k)*VMTR_RGSGAM2_pl(:,k ,1)*rhogvx_pl(:,k

+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvx_pl(:,k-1,

* 0.5DO*VMTR_GSGAMH_pl1(:,k,1)*VMTR_GZXH_pl(:,k,1)

+ ( GRD_afac(k)*VMTR_RGSGAM2_pl(:,k ,1)*rhogvy_pl(:,k
+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvy_pl(:,k-1,

* 0.5DO*VMTR_GSGAMH_p1(:,k,1)*VMTR_GZYH_pl(:,k,1)

+( GRD_afac(k)*VMTR_RGSGAM2_pl1(:,k ,1)*rhogvz_pl(:,k
+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvz_pl(:,k-1,

* 0.5DO*VMTR_GSGAMH_pl1(:,k,1)*VMTR_GZZH_pl(:,k,1)
)
end do
end do
end if
end if
!
I--— vertical contribution to flx_vz
if (f _type/="HORIZONTAL’) then
do 1=1,ADM_lall
do k = ADM_kmin, ADM_kmax+1

flx_vz(:,k,1) &
= flx_vz(:,k,1) &
+ rhogw(:,k,1) * VMTR_RGSH(:,k,1)
end do
end do

if (ADM_prc_me==ADM_prc_pl) then
do 1=1,ADM_LALL_PL
do k = ADM_kmin, ADM_kmax+1

flx_vz_pl(:,k,1) &
= flx_vz_pl(:,k,1) &
+ rhogw_pl(:,k,1) * VMTR_RGSH_pl(:,k,1)
end do
end do
end if
end if
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!

I-—— vertical flux is zero at the top and bottom boundary.
flx_vz(:,ADM_kmin, :) = 0.0D0

flx_vz(:,ADM_kmax+1,:) = 0.0DO

if (ADM_prc_me==ADM_prc_pl) then

flx_vz_pl(:,ADM_kmin, :) = 0.0D0
flx_vz_pl(:,ADM_kmax+1,:) = 0.0DO
end if

!
I-—— Horizontal flux convergence
if (f_type/=’VERTICAL’) then

hdiv(:,:,:) = 0.0DO

hdiv_pl(:,:,:) = 0.0DO

!

rhogvx_f(:,:,:) = rhogvx(:,:,:)*VMTR_RGAM(:,:,:)
rhogvy_f(:,:,:) = rhogvy(:,:,:)*VMTR_RGAM(:,:,:)
rhogvz_f(:,:,:) = rhogvz(:,:,:)*VMTR_RGAM(:,:,:)

if (ADM_prc_me==ADM_prc_pl) then

rhogvx_f_pl(:,:,:) = rhogvx_pl(:,:,:)*VMTR_RGAM_ p1(:,:,:)
rhogvy_f_pl(:,:,:) = rhogvy_pl(:,:,:)*VMTR_RGAM_pl(:,:,:)
rhogvz_f_pl(:,:,:) = rhogvz_pl(:,:,:)*VMTR_RGAM_pl(:,:,:)
end if
call OPRT_divergence( &
hdiv,hdiv_pl, & '-—-— out
rhogvx_f, rhogvx_f_pl,& !'--- in
rhogvy_f, rhogvy_f_pl,& !-—— in
rhogvz_f, rhogvz_f_pl & !'--- in
)
else
hdiv(:,:,:) = 0.0DO
hdiv_pl(:,:,:) = 0.0DO
end if

!
I-—— Total flux convergence
do 1=1,ADM_lall

do k = ADM_kmin, ADM_kmax
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grhog(:,k,1) &
= - ( flx_vz(:,k+1,1) - flx_ vz(:,k,1) ) &
/ ( GRD_gzh(k+1) - GRD_gzh(k) ) &
- hdiv(:,k,1)
end do
end do
grhog(:,ADM_kmin-1,:)
grhog(:,ADM_kmax+1, :)
!
if (ADM_prc_me==ADM_prc_pl) then
do 1=1,ADM_LALL_PL
do k = ADM_kmin, ADM_kmax

0.0DO0
0.0DO

grhog_pl(:,k,1) &
= - ( flx_vz_pl(:,k+1,1) - flx vz pl(:,k,1) ) &
/ ( GRD_gzh(k+1) - GRD_gzh(k) ) &
- hdiv_pl(:,k,1)
end do
end do
grhog_pl(:,ADM_kmin-1,:) = 0.0DO
grhog_pl(:,ADM_kmax+1,:) = 0.0DO
end if
!
t_end=mpi_wtime () ! 06/05/23 NEC R.0Ogata [add]
if (t_flag/=0)then ! 06/05/23 NEC R.Ogata [add]
t_src_flux_convergence= &! 06/05/23 NEC R.Ogata [add]
t_src_flux_convergence+(t_end-t_start) ! 06/05/23 NEC R.Ogata [add]
endif ! 06/05/23 NEC R.0Ogata [add]

end subroutine src_flux_convergence

000000000000000000020030000 (000000000
0)ooooo

do 1=1,ADM_lall
do k = ADM_kmin, ADM_kmax+1
flx_vz(:,k,1) = ( &
( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvx(:,k , 1) &
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvx(:,k-1, 1) ) &
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* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZXH(: ,k,1)

+( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvy(:,k , 1)
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvy(:,k-1, 1) )
* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZYH(:,k,1)

+( GRD_afac(k)*VMTR_RGSGAM2(:,k ,1)*rhogvz(:,k , 1)
+GRD_bfac (k) *VMTR_RGSGAM2(: ,k-1,1)*rhogvz(:,k-1, 1) )
* 0.5DO*VMTR_GSGAMH(: ,k,1)*VMTR_GZZH(: ,k,1)

)

end do
end do

do 1=1,ADM_LALL_PL
do k = ADM_kmin, ADM_kmax+1
flx_vz_pl(:,k,1) = (
( GRD_afac(k)*VMTR_RGSGAM2_pl(:,k ,1)*rhogvx_pl(:,k
+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvx_pl(:,k-1,
* 0.5DO*VMTR_GSGAMH_pl1(:,k,1)*VMTR_GZXH_pl(:,k,1)
+ ( GRD_afac(k)*VMTR_RGSGAM2_pl(:,k ,1)*rhogvy_pl(:,k
+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvy_pl(:,k-1,
* 0.5DO*VMTR_GSGAMH_p1(:,k,1)*VMTR_GZYH_pl1(:,k,1)
+( GRD_afac(k)*VMTR_RGSGAM2_pl1(:,k ,1)*rhogvz_pl(:,k
+GRD_bfac (k) *VMTR_RGSGAM2_pl(:,k-1,1)*rhogvz_pl(:,k-1,
* 0.5DO*VMTR_GSGAMH_pl(:,k,1)*VMTR_GZZH_pl(:,k,1)
)
end do
end do

OOoo0ooobobOoboboooboo 16GBOODOobOOoOoobDoDOobDOobDOobOO
OO00000D00bOobDOon 201000 glevel=140 DO OOOO 10000000
OO0 655360 000 650 TBULOUOODUODOOOOOOOOOOOOOOOOO 10
OO0 32GBOO0O0O0ODOO0OODOOOOODOOOO200D000000000O0O
gobobbooooooobooobobobbi1bbilibobooooobbobbogo
gbobobooodgobbn

000000000000 000 2010000000000 1000000 2
PlopO00OOOODODOOOOOODODOOOOOODODOOOD 1OD0000O0O0DD

http://www.gfd-dennou.org/arch/gfdsemi/2005-09-12/tomita/pub-web/065.html. ja
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3.7 FrontSTR_ BM

gooooog

hecmw /src/solver /solver_33 /hecmw_solver_CG_33.f

OO0D00D0O0D000 heemwsolve CG33 00 00O0OMO

OO0O0D00O00O SSOROODO0OOO00DOO00DbOOo0oDbOOoDoOoOoDoooooog

IC-— FORWARD

do i= 1, N
SWi= WW(3*i-2,indexA)
SW2= WW(3*i-1,indexA)
SW3= WW(3*i ,indexA)
isL= INL(i-1)+1
ieL= INL(i)
do j= isL, ielL
k= TAL(j)
X1= WW(3*k-2,indexA)
X2= WW(3*k-1,indexA)
X3= WW(3*k ,indexA)
SWi= SW1 - AL(9%j-8)*X1 - AL(9%*j-T7)*X2 - AL(9%j-6)*X3
SW2= SW2 - AL(9%j-5)*X1 - AL(9%j-4)*X2 — AL(9%j-3)*X3
SW3= SW3 - AL(9%j-2)*X1 - AL(9%j-1)*X2 - AL(9%j )*X3
enddo

X1= SW1
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X2= SW2
X3= SW3
X2= X2 - ALU(9%i-5)*X1
X3= X3 - ALU(9*i-2)*X1 - ALU(9%i-1)*X2
X3= ALU(9%i )* X3
X2= ALU(9*i-4)*( X2 - ALU(9*i-3)*X3 )
X1= ALU(9*i-8)*( X1 - ALU(9%i-6)*X3 - ALU(9*i-7)*X2)
WW(3%i-2,indexA)= X1
WW(3%i-1,indexA)= X2
WW(3*i ,indexA)= X3
enddo

IC
IC-— BACKWARD

do i= N, 1, -1
isU= INU(i-1) + 1
ieU= INU(i)
SWi= 0.d0
SW2= 0.d0
SW3= 0.d0
do j= 1isU, ieU
k= TAU(j)
X1= WW(3*k-2,indexA)
X2= WW(3*k-1,indexA)
X3= WW(3*k ,indexA)
SWi= SW1 + AU(9*j-8)*X1 + AU(9*j-7)*X2 + AU(9%j-6)*X3
SW2= SW2 + AU(9xj-5)*X1 + AU(9%j-4)*X2 + AU(9%j-3)*X3
SW3= SW3 + AU(9*j-2)*X1 + AU(9*j-1)*X2 + AU(9*j )*X3

X3= SW3

X2= X2 - ALU(9%i-5)*X1

X3= X3 - ALU(9*i-2)*X1 - ALU(9%i-1)*X2

X3= ALU(9%i )* X3

X2= ALU(9*i-4)*( X2 - ALU(9%i-3)*X3 )

X1= ALU(9%i-8)*( X1 - ALU(9%i-6)*X3 - ALU(9*i-7)*X2)
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WW(3*i-2,indexA)= WW(3*i-2,indexA) - X1

WW(3*i-1,indexA)= WW(3*i-1,indexA) - X2

WW(3*i ,indexA)= WW(3*i ,indexA) - X3
enddo

gbooboogobobog2000b0booon

do j= isL, ielL
k= TAL(j)

X1= WW(3*k-2,indexA)

X2= WW(3*k-1,indexA)

X3= WW(3*k ,indexA)

SWi= SW1 - AL(9%j-8)*X1 - AL(9%*j-7)*X2 - AL(9%j-6)*X3

SW2= SW2 - AL(9%j-5)*X1 - AL(9%j-4)*X2 - AL(9%j-3)*X3

SW3= SW3 - AL(9%j-2)*X1 - AL(9%j-1)*X2 - AL(9%j )*X3
enddo

do j= 1isU, ieU
k= TAU(j)

X1= WW(3*k-2,indexA)

X2= WW(3*k-1,indexA)

X3= WW(3*k ,indexA)

SWi= SW1 + AU(9*j-8)*X1 + AU(9*j-7)*X2 + AU(9%j-6)*X3

SW2= SW2 + AU(9%j-5)*X1 + AU(9%j-4)*X2 + AU(9%j-3)*X3

SW3= SW3 + AU(9*j-2)*X1 + AU(9*j-1)*X2 + AU(9*j )*X3
enddo
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31



gbobbooobobobooobobobuoooobbboooobbbooobobobooo
O0000O00000ooo(@oooooog AuO)
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3.8 simfold

O0000000000000000000D000000000 90%0 00 PE_hydro6
O PEHBS Born UDOUOOOO2000000000000000000000
OO0 hydro6 DODODOOOOOOOO

gbooboooboboboooobbbdan

subroutine PE_hydro6(lunout,naa,
* LnsiteOaa,LidOaa,xyz_uar,
* HP_energy)

implicit real (a-h,o-z), integer (i-n)

c Compute hydrophobic interactions when iHPtype = 6.
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c This is a 20 letter version of energy of burial.

c
G m
include ’Maxsize.f’
common/V_HP_5/HP_rho_min,HP_SHP_linear ,HP_SHP_S
common/V_HP_6/HP6_epsilon0id(21) ,HP6_con0id(21) ,HP6_consat0id(21),
* HP6_sigma min(21,21) ,HP6_sigma_max(21,21)
c---— arrays to be prepared -—————-—————--———————————-————————————————————
real xyz_uar (4,naa,3)
integer LnsiteOaa(naa)
integer LidOaa(naa)
c---- temporary arrays
real rho (2,mxaa) ! # of coordination for HP-interaction site
real SHP_A I degree of being buried of alpha carbons
real SHP_B ! degree of being buried of residues
parameter (pi=3.14159265e0)
c-——- set up rho (local density) for CA and sidechain

do iaa=1,naa
rho(1,iaa)=0.0
rho(2,iaa)=0.0
enddo

do iaa=1,naa-1
igly=4-LnsiteOaa(iaa)
do isite=1,2-igly
iid=LidOaa(iaa)-1000
if(isite.eq.1) iid=21
xi=xyz_uar(2*isite,iaa,1)
yi=xyz_uar(2*isite,iaa,?2)
zi=xyz_uar(2*isite,iaa,3)
do jaa=iaa,naa
jgly=4-LnsiteOaa(jaa)
do jsite=1,2-jgly

if(iaa.ne.jaa .or. isite.lt.jsite) then
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jid=Lid0Oaa(jaa)-1000
if(jsite.eq.1) jid=21
xj=xyz_uar (2*jsite, jaa,1)

yj=xyz_uar(2xjsite,jaa,2)

zj=xyz_uar (2xjsite, jaa,3)

xij=xi-xj

yij=yi-yj

zij=zi-z

rij2=xij

e

N
*x1j+yij*yij+zij*zij
rij=SQRT(rij2)

rij_min=HP6_sigma_min(iid, jid)
rij_max=HP6_sigma_max(iid, jid)
if(rij.gt.rij_min.and.rij.1lt.rij_max) then
pioverwidth=pi/(rij_max-rij_min)
uHP=0.5% (1+C0S (pioverwidth*(rij-rij_min)))
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)*uHP
else if(rij.1t.rij_min) then
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)
endif

rji=rij
rji_min=HP6_sigma_min(jid,iid)
rji_max=HP6_sigma_max(jid,iid)
if(rji.gt.rji_min.and.rji.lt.rji_max) then
pioverwidth=pi/(rji_max-rji_min)
uHP=0.5% (1+C0S(pioverwidth*(rji-rji_min)))
rho(jsite, jaa)=rho(jsite,jaa)+ HP6_con0id(iid)*uHP
else if(rji.lt.rji_min) then
rho(jsite, jaa)=rho(jsite,jaa)+ HP6_con0id(iid)
endif

ndif

enddo l!over jsite

enddo lover jaa

enddo
enddo

lover isite

lover iaa

34



c&&&&

c write(6,*) (rho(2,i),i=1,naa)

c write(6,*) 7%kkx’

c write(6,*) (HP6_consatO0id(LidOaa(iaa)-1000),iaa=1,naa)
C stop

c——--- normalize rho

do iaa=1,naa
rho(1,iaa)=rho(1,iaa)/HP6_consat0id(21)
igly=4-LnsiteOaa(iaa)
if(igly.eq.0)
* rho(2,iaa)=rho(2,iaa)/HP6_consat0id(LidOaa(iaa)-1000)
enddo

c---- make SHP_A, SHP_B, S_HB and compute HP interaction

HP_energy=0.e0
pioverwidthR=pi/(1.0-HP_rho_min)

do iaa=1,naa
c-—-- second for SHP_A
if(rho(1,iaa).gt.1.e0) then
SHP_A=1.e0
elseif(rho(1,iaa).1t.HP_rho_min) then
SHP_A=HP_SHP_linear*rho(1,iaa)

else
SHP_A=HP_SHP_linear*rho(1,iaa)
* +HP_SHP_S*0.5% (1+C0S (pioverwidthR*(1-rho(1,iaa))))
endif
c——--- third, for SHP_B
SHP_B=0.
if (rho(2,iaa).gt.1.e0) then
SHP_B=1.e0

elseif (rho(2,iaa).1t.HP_rho_min) then
SHP_B=HP_SHP_linear*rho(2,iaa)

else
SHP_B=HP_SHP_linear*rho(2,iaa)
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* +HP_SHP_S*0.5* (1+C0S (pioverwidthR*(1-rho(2,iaa))))

endif
c---— compute HP interaction
HP_energy=HP_energy-HP6_epsilon0id (21)*SHP_A
* -HP6_epsilon0id(LidOaa(iaa)-1000)*SHP_B
c&&&&
c write(6,*) ’SHPs’,SHP_A,SHP_B
enddo
c write(6,*) ’HP_energy=’,HP_energy
c stop
return
end

oboooboobooboob 4b00b0oobobbobbobobooboobg

do iaa=1,naa-1
igly=4-LnsiteOaa(iaa)
do isite=1,2-igly
iid=LidOaa(iaa)-1000
if(isite.eq.1) iid=21
xi=xyz_uar(2*isite,iaa,1)
yi=xyz_uar(2xisite,iaa,2)
zi=xyz_uar(2*isite,iaa,3)
do jaa=iaa,naa
jgly=4-LnsiteOaa(jaa)
do jsite=1,2-jgly
if(iaa.ne.jaa .or. isite.lt.jsite) then
jid=Lid0Oaa(jaa)-1000
if(jsite.eq.1) jid=21
xj=xyz_uar (2*jsite, jaa,1)
yj=xyz_uar(2xjsite,jaa,2)
zj=xyz_uar (2*jsite, jaa,3)

xij=xi-x]j
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yij=yi-
zij=zi-

rij2=xi

¥J

zj

J¥xijtyijryijtzij*zij
rij=SQRT(rij2)

rij_min=HP6_sigma_min(iid, jid)
rij_max=HP6_sigma_max(iid, jid)
if(rij.gt.rij_min.and.rij.1lt.rij_max) then
pioverwidth=pi/(rij_max-rij_min)
uHP=0.5* (1+C0S (pioverwidth*(rij-rij_min)))
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)*uHP
else if(rij.lt.rij_min) then
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)
endif

rji=rij
rji_min=HP6_sigma_min(jid,iid)
rji_max=HP6_sigma_max(jid,iid)
if(rji.gt.rji_min.and.rji.lt.rji_max) then
pioverwidth=pi/(rji_max-rji_min)
uHP=0.5% (1+C0S (pioverwidth*(rji-rji_min)))
rho(jsite,jaa)=rho(jsite, jaa)+ HP6_con0id(iid)*uHP
else if(rji.lt.rji_min) then
rho(jsite,jaa)=rho(jsite, jaa)+ HP6_con0id(iid)
endif

endif

enddo l!over jsite

enddo lover jaa
enddo lover isite
enddo lover iaa
ogooog

yij=yi-
zij=zi-

rij2=xi

xij=xi-x]j

A

z)

J*x1j+yij*yij+zij*zij
rij=SQRT(rij2)
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rij_min=HP6_sigma_min(iid, jid)
rij_max=HP6_sigma_max(iid, jid)
if(rij.gt.rij_min.and.rij.lt.rij_max) then
pioverwidth=pi/(rij_max-rij_min)
uHP=0.5% (1+C0S (pioverwidth*(rij-rij_min)))
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)*uHP
else if(rij.lt.rij_min) then
rho(isite,iaa)=rho(isite,iaa)+ HP6_con0id(jid)
endif
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3.9 coevolv
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double SPLINE::Interpolation(double x)
{

int klo,khi,k;

double h,b,a,ret;
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//*********************************

if (initflag == 0) init();

/[ %KoKk sk ok sk ok ok sk ok ok K ok ok 3k Ok ok 3 K ok K KOk ok K ok K
klo = 0;
khi = NumberOfData - 1;
while (khi - klo > 1)
{

k = (khi + klo) >> 1;

if (Xalk] > x) khi = k;

else klo = k;
}
h = Xa[khi] - Xaflklo];
if (h == 0.0) error();
a = (Xal[khi] - x)/h;
b = (x - Xal[klo]l)/h;
ret = axYal[klo] + b*Ya[khi]

+ ((axa*xa - a)x*y2alklo] + (b*bxb - b)*y2al[khi])*(h*h)/6.0;

return ret;
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